o} 1%9)4 BD £ AABC 9] $410]31 BP = PD o]}, aABC ©|
wol7k 24em? o w, AAPC ©] Wol&?

A

@® 8cm? @ 10cm?2 3 12¢m?

@ 15cm? ® 18cm?



<= 94 AB,AC,DB,DC

71—71— P9Q5R3S E}@’“ﬂ, PQ_

1

Foh?

©)
@ 1 ® 3

o

S

Lo

=
s

-3 @ -1 ®0

=3
K3

_(ﬂ

al
T

)
tlo o




A

-
=
Q

@ 5cm @ 6cm ® 7cm @ 8cm ® 9cm



g THOIA A = 90°%) HZHIZHOl T, H G AABC S| 2
FAloltt, BC = 12em ¢ ), AG 2] Zo]&?
C -~

12cm

\
M N
G AN
\
\
\
A B

@ 1lcm @ 2cm ® 3cm @ 4cm ® 5em



ot I9olA H G+ aABC Y FAGA Ol AD = 18cm & o,
HG 9] Aol=?

A

@D 2cm @ 3cm ® 4cm @ 5cm ® 6cm



thg 29 424429 ABC o4 A G = BAFHIT, H EF
= AC 9 A58 Ho]i1l AABC = 36cm? & W], AEBG 9] Hol&
vt2 7| gk 222

A

F
n

B \ )

® 2cm? @ 2.5cm? ® 3cm?

@ 3.5cm? ® 4cm?



oS 1H3} 2ol AABC 9] A H 9] FHo]
A i E,F ©]21 ADEF 9] Yo7} 3cm? ©]
t}. o] o, AGBE 9] Y{o]=?

® 2cm? @ 3cm? ® 4cm?

@ 5cm? ® 6cm?



HPAFHASYE ABCD o4 4 M, N 2 Z+zt
BC, DC 9] &#o]2Z MN = 15cm 4 W],
PQ © ZolE Fote?

@ 8cm @ 10cm ® 1llcm

@ 12cm ® 14cm



9. o ™94 A G, G2 77 AABD , aAADC 9] FAFA ot
BC =12cm¥ o, GG’ 9] do]x9

>

D 1lcm @ 2cm ® 3cm @ 4cm ® 5em



10. o2 I9A H G, G’ & 47 AACD ,
ADBC 9] A5 Aoltt, AB = 27cm &
o, GG’ o] Zdo]& F5HH?

® 9cm @ 10cm @ 1lcm

@ 12cm ® 13cm



11. thg aABC o4 A P,Q & 27 % %41 AD BE ©] $dolth

AABC = 48cm? ¥ ©, oDEPQ 9] §°]& o}H?

© 7em? @ 9cm? ® 10cm?

@ 12cm? ® 13cm?



H BC, CD 9 F

olJ
e
olJ
o8

olig
Nfo

ojn

=
nE

AP ABCD 9

2
u,

hr]

Tov

12.

@ BP =20Q

QD

PQ
® 600PMC = oABCD

® BP

= AAQO

@ AAPO

® MN = BO



